PartS Catal O g Issued: Dec 29, 2016

ICC - Casegoods - Halifax Furniture Line

>

Yes, you can.




Parts Catalog Usage Guide

The information contained in this document is subject to change without notice. This catalog contains
service parts for Form No. 13-202. If you have any questions regarding this catalog, please contact one
of our Customer Service Representatives.

For Customer Service Support Call:
1-800-333-6900
For Faxed In Orders Call:
1-800-678-4682 or

1-440-366-0709

For Technical Service Call:
1-800-832-4707

Literature Can Be Found at:

www.invacare.com or

1-800-828-6272

SYMBOL DEFINITION

Throughout this catalog you will notice letters to draw your attention to specific footnotes which are located at the
bottom of the page or below specified charts.

Examples:
AB,Cetc. = Special Comments
NOTE: General information pertaining to that specific page
NLA No Longer Available

HARDWARE MEASUREMENTS

The measurements for the hardware will be listed as follows:
Screws, Bolts Diameter X Thread Count/Pitch X Length
Washers Inside Diameter X Outside Diameter X Thickness
Spacers Inside Diameter X Outside Diameter X Length

For your convenience, we have supplied an area for you to list your Invacare Representatives.

Name Phone Numbers

© 2016 Invacare Corporation. All rights reserved. Republication, duplication or modification in whole or in part is prohibited without prior written permission
from Invacare. Trademarks are identified by ™ and ®. All trademarks are owned by or licensed to Invacare Corporation or its subsidiaries unless otherwise
noted.

1

Form No. 13-202
To order call toll free 1-800-333-6900, or www.invacare.com



Description

TABLE of CONTENTS

01. D0Ors - Wardrobe - HAlIfaX ......ooooiiiiiiii ittt e e s eaaaaaas

02. Drawers - Bedside and Wardrobe - HalifaX ........ccoooieiiiiiiiiiiiiieieee e eens

03. Door and Drawer PUIIS = HAIIFAX ...uiiieiiieieeeeeeee ettt e e e e e e e e e raa s

04. ACCESSOIIES - MISCEIIANEOUS .....ieeeiiiii ettt e e e e e e e e e e e s s aa e e rabaa s

Form No. 13-202

Page
Number

12

2

To order call toll free 1-800-333-6900, or www.invacare.com



Wardrobe Doors - Halifax

\U

Cabinet Shown
for Reference Only N /%

|
o bl @ _

Cabinet Shown
for Reference Only

Cabinet Shown

for Reference Only
>
\\
\§= 2 .

.
-
.

3
To order call toll free 1-800-333-6900, or www.invacare.com

Form No. 13-202



Wardrobe Doors - Halifax

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly

1 A 1170996 Kit, Door Panel w/ Hardware, Double (43072) 1 1
4 Door Panel Assembly w/ Hinges 1 2
5 Hinge Plate, Salice 1 6
6 Screw, Phillips Pan Head (#8 x 5/8") 1 12
7 Pad, Felt 1 4
1 A 1174303 Kit, Door Panel w/ Hardware, Double (33072) 1 1
4 Door Panel Assembly w/ Hinges 1 2
5 Hinge Plate, Salice 1 6
6 Screw, Phillips Pan Head (#8 x 5/8") 1 12
7 Pad, Felt 1 4
2 A 1171001 Kit, Door Panel w/ Hardware, Double (43072-1) 1 1
4 Door Panel Assembly w/ Hinges 1 2
5 Hinge Plate, Salice 1 6
6 Screw, Phillips Pan Head (#8 x 5/8") 1 12
7 Pad, Felt 1 4
2 A 1174308 Kit, Door Panel w/ Hardware, Double (33072-1) 1 1
4 Door Panel Assembly w/ Hinges 1 2
5 Hinge Plate, Salice 1 6
6 Screw, Phillips Pan Head (#8 x 5/8") 1 12
7 Pad, Felt 1 4
3 A 1171006 Kit, Door Panel w/ Hardware, Double (43072-2) 1 1
4 Door Panel Assembly w/ Hinges 1 2
5 Hinge Plate, Salice 1 6
6 Screw, Phillips Pan Head (#8 x 5/8") 1 12
7 Pad, Felt 1 4
3 A 1174313 Kit, Door Panel w/ Hardware, Double (33072-2) 1 1
4 Door Panel Assembly w/ Hinges 1 2
5 Hinge Plate, Salice 1 6
6 Screw, Phillips Pan Head (#8 x 5/8") 1 12
7 Pad, Felt 1 4

NOTE: A -Includesitems4,5,6,and 7.

Form No. 13-202

To order call toll free 1-800-333-6900, or www.invacare.com

4




Bedside and Wardrobe Drawers - Halifax

Form No. 13-202 .
To order call toll free 1-800-333-6900, or www.invacare.com



Bedside and Wardrobe Drawers - Halifax

Item
Number

Note Part Number

Description

Quantity Per

Package

Assembly

[

O wooahb~ANDMNOUOODRFPLPOGEA, WO OO RMADNOOO M

6

A 1170881

A 1170882

A 1170883

A 1174193

A 1174194

A 1174195

Kit, Drawer Assembly, Complete (19-1/8")
Drawer Front Panel Assembly (19-1/8")
Drawer Assembly (19-1/8")

Screw, Phillips Flat Head (#6 x 1)

Kit, Drawer Assembly, Complete (28")
Drawer Front Panel Assembly (28"
Drawer Assembly (28")

Screw, Phillips Flat Head (#6 x 1)

Kit, Drawer Assembly, Complete (30")
Drawer Front Panel Assembly (30"
Drawer Assembly, Complete (30")
Screw, Phillips Flat Head (#6 x 1)

Kit, Drawer Assembly, Complete (19-1/8")
Drawer Front Panel Assembly (19-1/8")
Drawer Assembly (19-1/8")

Screw, Phillips Flat Head (#6 x 1)

Kit, Drawer Assembly, Complete (28")
Drawer Front Panel Assembly (28"
Drawer Assembly (28")

Screw, Phillips Flat Head (#6 x 1)

Kit, Drawer Assembly, Complete (30")
Drawer Front Panel Assembly (30"
Drawer Assembly, Complete (30")
Screw, Phillips Flat Head (#6 x 1)

1

PR RRPRRPRPRPRPRRPRPRPRRPRPRRPRRPREPRPRRPRERRRLRER

1

ORRPRPRORPRRPREPIAMRPRRPRLPRORPRREPREPORRERDNERESR

NOTE: A - Includes items 4, 5, and 6.

Drawer to Furniture Style

Furniture Style

Number of Drawers

Part Number

IH43030 Bedside, Single Drawer
IH43034 Cabinet, Three Drawer
IH43043 Cabinet, Six Drawer 1170881
IH43070-1 Wardrobe, Single Drawer
IH43070-2 Wardrobe, Two Drawer
IH43036 Wide Cabinet, Three Drawer
IH43038 Wide Cabinet, Four Drawer 1170882
IH43090 Armoire, Three Drawer
IH43072-1 Two .Door Wardrobe 1170883
Single Drawer
IH43072-2 Two Door Wardrobe 1170883
Two Drawer
6

Form No. 13-202

To order call toll free 1-800-333-6900, or www.invacare.com




Bedside and Wardrobe Drawers - Halifax

Drawer to Furniture Style

Furniture Style

Number of Drawers

Part Number

IH33030 Bedside, Single Drawer
IH33034 Cabinet, Three Drawer
IH33043 Cabinet, Six Drawer 1174193
IH33070-1 Wardrobe, Single Drawer
IH33070-2 Wardrobe, Two Drawer
IH33090 Wide Cabinet, Three Drawer
IH33036 Wide Cabinet, Four Drawer 1174194
IH33038 Armoire, Three Drawer
IH33072-1 Two Door Wardrobe 1174195
Single Drawer
IH33072-2 Two Door Wardrobe 1174195
Two Drawer
7

Form No. 13-202

To order call toll free 1-800-333-6900, or www.invacare.com




NOTE: All pull handles include Screws. Not all Pulls shown in pictures below are available with the

Door and Drawer Pulls - Halifax

Halifax Line, see following sections for available door and drawer pulls.

E =S

1H46-B
Antique Brass, 3-3/4”

SeE——

IH46-N
Antique Nickel, 3-3/4”

Se——e

IH46-O
Antique Black Oil, 3-3/4”

IH88-B
Antique Brass, 4”

IH88-N
Antique Nickel, 4”

IH88-O
Antique Black Oil, 4”

IH88D-B
Door Handle,
Antique Brass, 3”

IH88D-N
Door Handle,
Antique Nickel, 3”

IH88D-O
Door Handle,
Antique Black Oil, 3”

IH97D-AB
Door Handle,
Antique Brass, 3"

IHCH-PN
Antique Brass, 3”

IHCH-PB
Polished Brass, 5”

&

IH37-AB
Antique Brass, 3”

IH30-BC
Brushed Chrome, 3"

IH30-WB
Polished Bras, 3”

IH98-AB
Antique Brass, 3”

IH62-BC
Antique Brass, 3-3/4”

IH55-AB*
Antique Brass, 3”

8

Form No. 13-202

* ONLY AVAILABLE ON HAMILTON

To order call toll free 1-800-333-6900, or www.invacare.com



Door and Drawer Pulls - Halifax

NOTE: All pull handles include Screws. Not all Pulls shown in pictures below are available with the
Halifax Line, see following sections for available door and drawer pulls.

IH30-WB-2/IH30-BC-2 Series - Door and Drawer Pulls

F“Sr?;fgre IH30-WB-2 Quantity IH30-BC-2 Quantity
:ﬂigggg 1128163 1 1128166 1
:Eigggi 1128165 1 1128168 1
:Eigggg 1128165 3 1128168 3
:ﬂigggi 1128165 6 1128167 6
:Eigggg 1128165 8 1128168 8
:Eiggfé 1128165 6 1128168 6
:ﬂigg;g 1128163 1 1128166 1
:Eﬁg;gj 1128163 1 1128166 1
:Eigg;gj 1128165 1 1128168 2
::igg;g:g 1128163 1 1128166 1
:Ef’ég;g:g 1128165 2 1128168 2
:Eigg% 1128163 2 1128166 2
:Eigg;gj 1128163 2 1128166 2
:Eﬁg;% 1128165 4 1128168 4
:Eigggg 1128165 6 1128168 6
9

Form No. 13-202
To order call toll free 1-800-333-6900, or www.invacare.com



Door and Drawer Pulls - Halifax

NOTE: All pull handles include Screws. Not all Pulls shown in pictures below are available with the
Halifax Line, see following sections for available door and drawer pulls.

IHCH-PB/PN Series - Door and Drawer Pulls

Fumiture IHCH-PN Quantity IHCH-PB Quantity
yle
:ﬂigggg 1145863 1 1145862 1
:Eigggg 1145865 1 1145864 1
:Eigggj 1145865 3 1145864 3
:ﬂigggg 1145865 6 1145864 6
:Eigggg 1145865 8 1145864 8
:Eiggfé 1145865 6 1145864 6
:ﬂigg;g 1145863 1 1145862 1
:Eiggzgj 1145863 1 1145862 1
oot | asees : 1
ootz | aaesaes 1 1
:3238;83 1145865 2 1145864 2
:Eigg;g 1145863 2 1145862 2
:Eigg;gj 1145863 2 1145862 2
:Eiggzgj 1145865 2 1145864 2
:Eigg;g:g 1145863 2 1145862 2
:Eigggg 1145865 6 1145864 6
10

Form No. 13-202
To order call toll free 1-800-333-6900, or www.invacare.com



Door and Drawer Pulls - Halifax

NOTE: All pull handles include Screws. Not all Pulls shown in pictures below are available with the
Halifax Line, see following sections for available door and drawer pulls.

IHWF-PB/IHWF-BC Series - Door and Drawer Pulls

F“Sr?ﬁgre IHWF-PB Quantity IHWF-BC Quantity
:ﬂigggg 1158630 1 1158632 1
:Eigggg 1158631 1 1158633 1
:Eigggj 1158631 3 1158633 3
:ﬂigggg 1158631 6 1158633 6
:Eigggg 1158631 8 1158633 8
:Eiggfé 1158631 6 1158633 6
:ﬂigg;g 1158630 1 1158632 1
:Eiggzgj 1158630 1 1158632 1
:Eigg;gj 1158631 1 1158633 1
::igg;g:g 1158630 1 1158632 1
::238;8:3 1158631 2 1158633 2
:Eigg;g 1158630 2 1158632 2
:Eigg;gj 1158630 2 1158632 2
:ﬂf’ég;ﬁi 1158631 2 1158633 2
:Eigg;g:g 1158630 2 1158632 2
430752 1158531 4 1158633 4
:Eigggg 1158631 6 1158633 6
11

Form No. 13-202
To order call toll free 1-800-333-6900, or www.invacare.com



Accessories - Miscellaneous

THE KEY AND LOCK ID ARE INCLUDED WITH ALL MASTER LOCKS

Accessory Style No. Part No.
Master Lock Top IH33030, IH33034, IH33036
Drawer Key - Halifax IH33038, IH33043 (2) 1124454
(Bright Brass) IH43030, IH43034, IH43036
IH43038, IH43043 (2)
Master Lock Top IH33030, IH33034, IH33036
Drawer Key - Halifax IH33038, IH33043 (2) 1147914
(Brushed Nickel) IH43030, IH43034, IH43036
IH43038, IH43043 (2)
IH33030, IH33034, IH33043
Small Drawer IH43030, IH43034, IH43043 (2)
Liner IH33070-1, IH33070-2 A024729
IH43070-1, IH43070-2
IH33034 (3), IH33043 (6)
Small Drawer IH43034 (3), IH43043 (6)
Liner - Al IH33070-2 (2) A024729
IH43070-2 (2)
Large Drawer IH33036, IH33038
Liner IH43090, IH43036 A024730
IH43038, IH43090
Large Drawer IH33036 (3), IH33038 (4)
IH43090 (3), IH43036 (3) A024730

Liner - All

IH43038 (4), IH43090 (3)

THE KEY AND LOCK ID ARE INCLUDED WITH ALL MASTER LOCKS

Form No. 13-202

To order call toll free 1-800-333-6900, or www.invacare.com

12




Invacare Corporation

Www.invacare.com

One Invacare Way Technical Support
Elyria, Oh USA 800-832-4707
44036-2125 Customer Service
800-333-6900 800-333-6900

Literature Orders
800-333-6900

© 2016 Invacare Corporation. All rights
reserved. Republication, duplication or
modification in whole or in part is prohibited
without prior written permission from
Invacare. Trademarks are identified by ™
and ®. All trademarks are owned by or
licensed to Invacare Corporation or its
subsidiaries unless otherwise noted.
(Revised 12/29/2016)

Form No. 13-202



